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(2) A 2 B2 DEIXO0N et 95% A@P2t2 A5tet. (10)
o? I o2 O 20D & % A28

(ny —1)St+(ny —1)S5 (8 « 0.005828)+ (8 » 0.008478)

2 _ — =0.

b )+, —2 9+9—2 0-007153

Sp = 0.08457

- 1 1 — — [1 1

(551* 552) - t0.025,16“9p n_1+ n_2 =Ty = (551* x2) +t0.02.5,165p n_1+ n_2
2 2

0.058888 —2.120 « 0.08457 9 < iy — My < 0.058888+2.120 « 0.08457 9

—0.02563 < p1; — py, = 0.14340

2 (= 0.02563,0.14340) (or (—0.14340,0.02563) == A )

(3) A9 2RI B REZO| 22X Y=AFS S5t0 BHAGIS. 0l |KAL=2 0.012 5tk (10)
o I o2 O 20D & % A2sz

Hy 't py = py

Hyoipy =,  DEEHBS K A5
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4-1. 2L XsEHES 01E6H0 6:) o B £ 7ok, ARSEIH 32°F 2 I 2248 olsgts Potet (10)
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o >(z,—z) S, 361.1 « 8 037

3 = y— B+ T = 58.22— (—1.037) » 48.89 = 108.92

QIR RE I} 32°F YME 7517 SsH X0l 32 Y 512 75.736 0| L.

4-3. Hy:3,=0 9 H, :3, =0 Ol ot |24 0.0101M Z=atet. (10)
o= /122.3971 = 11.0633
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B —1.037
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7120ty 0057 = 3499 = —tg 05,7 = — 3-499

=, —5.058 < —3.499 o] L2 A, 7] 7}, F o v &k S w49l
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4-5. Of2fo RUIAYEES 01Sot0 SAHVSES AAIGH. (5)
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5-2. 0Otefiel ANOVA TableOiAM Bl2t2 24s6tL, Ro+F 0.010AM S4E&9 228 UWelet. (10)

[ANOVA Table]

Source SS OF MS FO p—-value
Factor ( 74334.69 ) (3) ( 24778.23 ) 33.423 0.000004
Error  ( 8896.2 ) (12) 741.35

Total  ( 83230.89 ) (15)

*741.354 = eZ SPCOI 8t Z 1t

MSA = MSE*FO

SSA = DFA*MSA

SSE = DFE+*MSE

SST = SSA + SSE  (0IEH g =& U
0

P-valuedt 0.0000042 =222 H, J|2, =as otLte 72 U200

5-3. Ro=E 0.010lA CHSHIWE 98 LSD S 76t1, BHE A% D 2LEZO
LSD #k& Al2kskd
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2X CHEX ©Fatet. (10)
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U
1 1
= 3.055 AY 741.3 N Z+ Z

= 58.81783
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